2

1

ALL INFORMATION CONTAINED IN THIS DOCUMENT SHOULD BE

CH60407 [REV C |
1/2" AEROQUIP USED FOR REFERENCE PURPOSES ONLY & ARE SUBJECT TO
@7.00 CHANGE WITHOUT PRIOR NOTIFICATION. ALSO, THIS DOCUMENT
[177.8] IS CONSIDERED PROPRIETARY & THE SOLE PROPERTY OF
CRYOMECH, INC. & SHOULD NOT BE REPRODUCED IN ANY
MANNER WITHOUT PRIOR WRITTEN APPROVAL.
3/4" AEROQUIP
10.4
[263.2]
22.2
ROOM [563.0]
L u TEMPERATURE
FLANGE
o o
U |- - L
7].005 [.1]
_A_
ELECTRICAL ISOLATOR
5.747
1st STAGE
1/2” FLEX LINE [145'0] HEAT EXCHANGER
<[13.149]> e J //].010 [.3]B
334.0 .025¢.025
[0.6%.5]
7.402
[188.0] 2nd STAGE
/HEAT EXCHANGER
@4.75 [120.7]
©[.020 [.5][A]
M4x0.7 — 6H THRU @3.38 [85 7]
M5x0.8 — 6H ¥ .475 ©[.020 [.5][4]
04.26 [108.2] SPACED 60° FROM
NEIGHBORING HOLES 5X M5x0.8 — 6H THRU
SPACED 60° FROM
30° 4X @.35 THRU NEIGHBORING HOLES **SPECIAL NOTE: COLDHEAD MUST BE
3.80 [96.5] H.C.
-/ 1 8 [96.5] @4.38 [111.1] H.C. OPERATED COLD END DOWN.**
[ -1 8 4
- @\\ » THIRD ANGLE PROJECTION
40° SRS CRYOMECH, INC
o~ N 113 FALSO DRIVE SYRACUSE, N.Y. 13211
R Y )3 Tel: (315)455-2555 Fax:(315)455-2544
8X 5/16—24 UNF ALL DIMENSIONS ARE IN INCHES
HEX SHCS TOLERANCES: FRACTIONS +1/64 DECIMALS XXX=+.005 XX =+.01
ANGLES *.5° ALLOVER FINISH 25 Ra
6X M4x0.7 — 6H THRU 6X @.25 THRU CONCENTRICITY .005 TOTAL INDICATOR RUN OUT
80° EQUALLY SPACED EQUALLY SPACED PERPENDICULAR +.002 (UNLESS OTHERWISE SPECIFIED)
$3.00 [76.2] H.C. ®6.50 [165.1] H.C. NAME: PT407-RM COLDHEAD OUTLINE
DWG #: CH60407 |SHT 1 OF 1
——D03.62 [91.9] 67 - | c RESURRECT 4pc. HEAT EXCHANGER 29AUG1 1| MATERIAC 103-59
P28f — | B | UPDATED BTA W/ 1pc 1st STAGE HT EX |09NOV10|DwNBY: MW  DATE: 18DEC06 [scae: 150 [R9E A
1669 — A ADDED DIMS. TO R.M. 12SEPO8|1STCHK: BZ  DATE: 18JANQ7  [2ND CHK: AO DATE: 18JANO7
ECN|ZONE|REV DESCRIPTION DATE |cusT: BTA: BTA-CH40405/407




